& D72 Ll o m A o

% B8 m f RENE
AF—)b SFHMSF Ry 3 DA — b
RE—Ib E——
Csos 7IVE AFHESF
A7 VLR SSFHMSF —  RoHSHS
¢H
20— P
B f1 =
L n
M IR
SFH M SF D
RUOMG | THE L D H p BEuE
M from) (mm) | (mm) | mm) | mm) gt (Nem)| I8 (KN)
M3X0.5 51-52 o 50 60 05 34 54
10.0
M4X0.7 6.1-6.2 1 ;8 6.0 7.0 0.5 44 74
13.0
1.0
120
M5X0.8 71-72 130 7.0 8.0 0.5 10.8 10.8
14.0
14.0
M6X1.0 9.1-93 155 9.0 10.0 0.5 16.7 17.7
M8X1.25 11.1-113 1;8 11.0 12.0 0.5 27.5 255
M10X 1.5 13.1=133 132 13.0 14.0 0.5 58.8 294
AFH M SF
RLOWT | T HRmERE | L D H P el
M {mm) (] (mm) | (mm) ] (mm) - mm) b (Nem)| R (kN)
05-15 85
M3X0.5 51-52 15-25 95 50 6.0 0.5 1.9 29
05-15 10.0
1:.5=2.5 11.0
M4Xx0.7 6.1-6.2 55.35 120 6.0 7.0 0.5 34 49
3.5-45 13.0
05-15 11.0
1.5~2.5 12.0
M5%0.8 Tl =72 25-35 130 7.0 8.0 0.5 6.9 6.7
35-45 14.0
05-25 14.0
M6Xx1.0 9.1-93 25-40 155 9.0 10.0 0.5 137 10.8
1.0-25 15.5
M8X1.25 11.1-113 25-40 170 11.0 12.0 0.5 255 157
1.0-25 16.0
M10X1.5 13:1=133 2540 175 13.0 14.0 0.5 44.1 18.6
SSFH M SF i
=
BLONT | TR HREEIRE | L D H P BERE
M (mm) (mm) (mm) | (mm) | (mm) M) gpng (Nem)| S8 (KN)
05-15 8.5
M3X%0.5 5il =552 15-25 95 50 6.0 0.5 34 8.1
05-15 10.0
M4Xx0.7 6.1-6.2 1.5 2.5 11.0 6.0 7.0 0.5 6.4 111
2.5-35 12.0
05-15 11.0
M5X0.8 71-72 15-25 120 7.0 8.0 0.5 15.2 16.2
25-35 13.0
0.5 =25 14.0
M6X1.0 9.1-93 25-40 155 9.0 10.0 0.5 20.7 26.6
1.0 =25 155
M8X1.25 111-113 25-40 170 11.0 12.0 0.5 50.3 383

(P ATV LABR A A —RFy b DEDMD YA X DN TIFEFEEH I THEHTIE L,

@D NZF V.7 B384 T224-0003 HEETHHAR B)I| thR1-4-6 74 —LAh-£F—E A 3F TEL 045-532-6900 FAX 045-532-6909

i

AU = Y

~
..S\w_

%
L)

;"T'\:




